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Which of the following fuels formed from plant remains in

prehistoric swamps?
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The figure below represents a hydroelectric power plant. Asila g g ABUal) A gal Adnaa sUial JSE Sy
Study it and answer the question: Vsl 08 il g A )
Which of the following letters indicates a step in the process where the s O1gd () e A0 B AN e gl

flowing water turns a turbine? Celall 3hal o

A B C
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The image below illustrates galaxies that found in the universe. LOassh u’ 3433 gall S jaall sLia) 5 gual) e 5
Which letter of the following represents a galaxy that have the TAILEN et B JSS el 5 i L laa a6

same shape as the Milky Way galaxy?
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l'he figure shows the Sun radiation on Earth.

Which of the following would happen if Earth was not tilted toward or

away from the Sun?
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Darkness would last all day

Days would be much longer and nights would be shorter

Each hemisphere will have the same amount of sun light

O U™

Daylight would last all day
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What is the definition of urban sprawl? f ) paad) aa Sl s 20 A e

QO Planting trees to replace burned trees 489 mall JalV) Jae dadl JalVidel ;)
O Development of desert like conditions ¢! yall Aglll i g Jall das
O Restoring land disturbed by mining Cpaadll el (e B ) paiall el Y B

D O Development of lands for housing SSuY Jal e gl N1 gkl o
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The figure below represents different types of renewable energy. Sasatial) A8l (e ddlida o) gl sLs) JOB) Jia
il edl C8 il ol d 0

Study it and answer the question:
Which of the following letters indicates a source of energy that transfers Al Jsas 4Bl jaaa ) jud 40N G Al (e
Al g Bk ) A gl

the light energy into electrical energy?
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The figure below represents different types of renewable energy. Saaaial) A3kl (e A8 Lo 5l alia) JSEI) Jiay
Study it and answer the question: J1sedl (8l ol )
Which of the following letters indicates a source of energy that transfers A3l J gy A8l jaaa ) el AN AV (e )

the light energy into electrical encrgy? YAl 4s A ) 4 gl
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 Which of the following is not an example of i i .. _ .
0l gaad) ALY AUl jhaa o YU pdag Y L las

Biomass source of energy?

O Food scraps alalall Ll
QO Natural gas sl
O Vegetable oil ) s 3l

O Com P [JUERPYER
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Which of the following best describes a meteoroid?

¢ Judadl Jol 35 cheay Sl Laa s

O A natural satellite that orbits an object other than a star
O A large object that orbits a star

O A swirling ball of gases

<, Telegram [232)

O A small rocky pa

ugh the space
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I'he image below illustrates four stars with different colors.

Which letter of the following represents the hottest star?
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D

‘ Which of the following is an example of recycling? J. ¢ padll Bals) o Yla joan e
O Using old paper to make new papers 3 315l delial all 5l pladid -
O Making a bird feeder from a plastic milk container Sl Gl ele g e H sl Adas delia
QO Turn off the lights when leaving the room 43 jall 5 jolas e muleadll clib)
D QO Take a short shower 3 el ) il pleaniyl
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‘ Which of the following is a specific source of water
pollution and leads to a reduction in the amount of
oxygen in the water?

SuAS ) gaa g slual) Siplil ddaa jheaa jad L La
felall B CpaalY) dsaS

O Sewage pipe

O Runoff from mines

O Runoff from construction sites

O Oil spills from a tanker

all G pall gl
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I'he figure below represents the planets of our solar system, which of ¢ ) Lialdal iS) g8 olial Je) Jiay
the following letters represents Jupiter? T Akall S oS Jiad AN G A s
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D

“The ;_f,ruph below represents the population growth. ) gl ) Sl e 1 Sy
Study it and answer the question: i el (B a9 A
Which of the following is not responsible for the population Y1800 ale s SEd) AN (8 Y g peea sl L Laa g

explosion after 18007

i S| gaid|
Human Population Growth

200 600 1000 1400
diwad| Year

People (in billions)
O=rJJ E=Uno =~

1800 2000

(Shlle ) oSl 322
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O Clean water
O Improved health care
Technological advancements

Pandemic diseases
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Which of the following has a negative impact on land?

O Recycling
O Compositing food scraps
O Reducing the use of resources

O Deforestation
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D Which of the following will increase the human positive
impact on the environment?

Al o B a8 G e L Laa g

QO Cleaning up the water streams

O Mining

O Using fertilizers

O Burning fossil fuels
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The figure below represents fossil fuels under the ground , study it Caad G s sdal) 398l gl Adu) Jias sl JE)
D and answer the question: gl 8 a2l A3l ¢ Y
What does the letter (B) refer to in the figure? fJSa A (B ) =il el i )

— e —— e

- M Imnearmaahls racke i e )edaa a
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D
O Impermeable rocks 3lie 2 a5
O oil Jagill b

O Natural gas el Al




Which of the following best describes a planet?

O A natural satellite that orbits an object other than a star

O A small rocky objects that orbit the Sun
O A large object that orbits a star

O A swirling ball of gases
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D

Which of the following is NOT an impact of using the land resources?

Thada V) 3 ) gall aladin) e G du Y L Laa g

O Pollution

QO Deforestation

QO Depleting minerals resources

O Increase rate of photosynthesis
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I'he figure below represents the planets of our solar system, which of
the following letters represents a planet that is almost the same size

and has the same makeup as Earth?
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)

Which of the following ores is the main resource of aluminum that is used to pddiocall o gial¥) jias sa AJGN LAY G
make the automobiles and the refrigerator shown below? Al gal) AadN g ol Ll ¢ Jal Gany dclina B
alial Jea A

’ O Sulfur = S
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O Sulfur

O Hematite

O Bauxite

O Halite
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Study the figure below and answer the question:

Which of the following events will be observed on Earth?
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O Full moon
O lunar eclipse
QO Solar eclipse

O Crescent moon

onad) i gusS

ol




79:15 || NQsx2@Q cE b (A) - Jubgyolo - 2022-2021 - EUE rulyll Jucill dulgi 3is! - pglsll = plsdl yusludl sl

s Al g s gl 5 A Al G 3 e 15 e
Aly) 0aN (F Aipa i g ala 2.5 s

O S S 13 ((pe) SR g il s 5 Adlucall Ul dasd L
Y dpe=3.261y

The nearest galaxy to the Milky Way is the Andromeda galaxy,
which is approximately 2.5 million light year (ly) from Earth.

What is that distance in parsecs (pe) If you know that 1pe = 3.26 Iy?

O 5,76 million Use 576 @

O 8.15 million gle815 ©

O 1.3 million Osle 1.3 ¢

' O 0.77 million sl 0.77 ¢
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I'he graph below shows the Motion of Earth.

Which of the lollowing is causing the day and light?
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O 'he distance of Earth away from the sun o
O [he tlt of Earth’s axis o=
O Earth's revolution around the sun ol g o 3 5 el o) 52l

s * ' - - ' e . - " "1
O Earth’s rotation around 1ts axis -:r,'):'-"]'l I s




